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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series. =

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part - A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet,

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall,
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Answer all questions. Each question carries one mark. (1x40=40)
2R FIROne eugdr. B3 T womd BosE BroddEa.

1. Which one is found only in males ?

a) X chromosome b) 2X chromosome
c) O chromosome d) Y chromosome
PUOHTE, TR, FORNITIYT
a) X JeaFgoed b) 2X Zrarzozd
c) O [ar3od d) Y Zearzozd
2. Which of the following causes the least pollution when burnt ?
a) Petrol b) Diesel c) Naturalgas d) Coal
DRYVE, CARTIT SOOLTIN BIT, HROF, TRy Lo0DTRAITS 9
a) Slnce b) e c) §RnFs R  d) QT
3. Moving from one website to another is called
a) Jumping b) Surfing
c) Web jump d) None of the above
2,000 SWEEF0T mara_‘odﬁﬁ {3 [@r8mn )
a) woion® (Srtatosyed) b) R&sFon®
c) =/ womt d) 2T TR B
4. The main constituent of CNG is
a) Methane b) Butane c) Ethane d) Propane
CNG s89thas aba.;i)as ©03nsh
a) Qeges® b) e, edes c) ages d) ZpJea®
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First manned landing on the moon was done using

a) Apollo 9 b) Apollo 10

c) Apolio 11 d) Apollo 12
HRTwo TN B¥00,F e TETFE BRELD WIRT)

a) especine 9 b) edpecdne 10
c) wapedne 11 d) eZpedre12
The National Science Day is observed every year in India on
a) March 28 b) September 16
c) June 21 d) February 28
o0, B8 WRF ToRECD ok ORI, 5230ROTYTIO

a) St 28 b) =ioryct 16

c) =Rz 21 d) H,=028

. The World Wide Web was developed by

a) Bill Gates b) Charles Babbage
¢) Tim Berners-Lee d) Blaise Pascal
B F B, eﬁzpa;)aommww

a) wef rtees’ b) ' F w3, teest
c) &3 35Tt O¢ d) o & AT

_Insomnia is a characteristic feature of

a) Schizophrenia b) Depression c) Epilepsy d) Psychosis

DT, eRBOD OTEIFOTT

a) %pﬁm@eaom b) D3 €) RS d) % geerx
Which of the following is a non renewable source of energy ?

a) Solar b) Wind ¢) Coal d) Biofuel
FINSRNGE, B8R FoT[RY B0 T TREFORLINOYOY, ?

a) =7 b) ==® c) QT d) o8 Q0TS
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10. Antibiotics
a) Do not destroy viruses
b) Should be taken preferably in the morning
¢) Were known around the time of the first world war
d) Have no known side effects
o, 0L3LI0AR T
a) #0R NYE) TIRATABOY,
b) Wens Beesdy Srcdnduiesd
c) drzes mmodmr:sap RODe P00
d) R’RzT COWOEEINEY,

11. A social science is the systematic study of

a) The natural world b) Models of reality
c) Human behaviour and society d) Experimentation
RRIE Ws =) 55532393553:3 2OT &, oOBNT
a) FxNFE T T b) &wScd IRWOND
C) SRITT TTFS B FINW d) = cdeen
12. The first stage of industrial revolution
a) Consumable goods production b) Capital goods production
c¢) Standardization d) Productivity
§moee 59,0800 HRBUE ©og
a) BRoLIReNT FoETY BT b) womses! FoBONY eV
C) ,@IEsesTd d) e.rusgfss
13. The theory that evolutionary change is slow and continuous is known as
a) Punctuated equilibrium b) Geographic isolation
c) Speciation d) Gradualism
QEed WO VTOIC LEITT WRRTHOD AT 033033
a) TRt JHBROR b) tPreees = cdd
c) Tyelewod d) gdnd
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Darwin's theory of evolution is based on the concept of

a) Use and disuse b) Natural selection

c) Mutations d) Hybridization
BINFITRT LTI AT 035y SFOUTIT TVOFOF

a) WP W) WYRRTFT b) gRnFe saly

C) U JOWIF d) 203,39

Which of the following is considered to be bacteriostatic ?

a) Penicillin b) Ciprofloxacin

c) Cefotaxime d) Chloramphenicol
FINTINYY, IRFTR, ‘12,8 €003RET 5™ 0T Ssfelatarsiwnlatevii

a) ﬁg@v b) xadp,sEora’

C) Xpeesd,d3* d) 3R¢0arSRTee’
‘Nuclear Reactors usually employ

a) Fusion b) Fission

c) Both a) and b) d) None of the above
ROZIER Bcriraﬁw exkat=b mm@?mh wﬁ%:imbﬁ@do

a) By b) Q¥

c) a) R b) d) oeds iR B,
GPS means

a), Global Pointing System b) Globe Positioning System
c) Global Positioning System d) General Pointing System
GPS 20%8

a) Global Pointing System b) Globe Positioning System
c¢) Global Positioning System d) General Pointing System

SPACE FOR ROUGH WORK
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18. Penicillin is obtained from

a) Algae b) Fungi
c) Bacteria d) Virus
T O, BAOTOHJD
a) wori(zew) b) m?i, (dDeory,nsD)
C) R 3eocdn d) o~

19. What is the common environmental problem with the use of detergents ?
a) Soil erosion b) Global warming
¢) Eutrophication d) All the above
TREFENY WIFLOT TORTH Foed T DT T N,
a) yr AT b) wpnés svm=ng
C) odede eqdess® d) 30T QP

20. Why is nuclear radiation dangerous ?
a) It explodes when touched
b) It causes blindness
c} It can change your DNA
d) All the above
TORED BT ESTH0IIFI0 OF 7
a) FSFATRN AR NRROIT
b) woqﬂa;aa& SUOLDTREZ S
c) DNA &0, sn@r &xo8ss
d) T aep

21. The term ISP refers to

a) Internal Software Protocol b) International Shareware Pool
¢) Internet Service Provider d) Interface Standard Protocol
ISP O3 Rewxbz ?

a) Internal Software Protocol b) International Shareware Pool
c) Internet Service Provider d) Interface Standard Protocol
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The efficiency of solar cells is about

a) 25% b) 15%
RPodredny oE Fob T, FR) OTRT
a) 25% b) 15%
Entomology is the study of

a) Insects

c), Entamoeba

QoWRROT wqﬁéodmﬁodd

a) Bernsd

C) DOBIELTD

The rings of Saturn were discovered by

a) Kepler
c) Copernicus

R

c) 40% d) 60%
c) 40% d) 60%
b) Plants

d) None of the above

b) NERE
d) ed SRR B

b) Ptolemy
d) Galileo

B, Be3 753 AT LVORIBRYRY, FOROLBRTI

a) &xo°
c) greudo'ex

The Industrial Revolution began in
a) England

¢) India

§, 0% 89,0803 T2, 0T,

a) sorfors

C) RT3

b) e
d) fdcdne

b) U.S.A.
d) Germany

b) co.a%f..
d) wsoF

In which year Sir C.V. Raman won the Nobel prize for Physics ?

a) 1920 b) 1922

c) 1938 d) 1930

@Sw:idqxc'. 2.8, ToRdR 0RO odne SRFEE Seewer FBR oW ?

a) 1920 b) 1922

c) 1938 d) 1930
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27. To whom we will call as a “Missile Man of India” ?

a) H.J. Bhabha b) Vikram Sarabhai
c) A.P.J. Abdul Kalam d) Sathyendra Basu
RAplekcing 3309 TRF,” word cdnday, sdeonndEds 2

a) @2, e b) &%= mosueon
C) .28, VWO Fo d) =g, eom, WX

28. In Karnataka where atomic power station is placed ?

a) Shivamoga b) Kaiga c) Hubli d) Dharwad
BERFLBTY, 800 Q10T ARWT QT ?
a) Sdwsery b) g c) Bowe d) meoma

29. In which year ISRO launched MOM (Mars Orbit Mission) was successfully
entered to the mars orbit ?

a) 2012 b) 2010 c) 2014 d) 2015
QAR ¢ LumRcloAE MOM (Mars Orbit Mission) syone & 53 oI odnn
T FedRT
a) 2012 b) 2010 c) 2014 d) 2015
30. In feudalism lords were called as
a) Dukes and Earls b) Baronus
c) The king d) Lesser Lords
VRUERT, THIONG, BROETHTTR Q0T BBCIVETITL.
a) @Epr TR SO b) eIeTsr
Cc) @éont d) Sxo* vt s
31. The ancient Babylonians found to use the soap around
a) 3800 B.C. b) 2800 B.C. ¢) 2500 B.C. d) 2400 B.C.
%, 6 1, WARERCHT U0 RReTRY WYATEH AR
a) 3800 B.C. b) 2800 B.C. ¢) 2500 B.C. d) 2400 B.C.
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32. Moderators are used in the nuclear reactors to
a) Accelerate the neutrons
b) Slow down the neutrons
c) Produce neutrons
d) To absorb the neutrons
Ho@mERd DoAY c‘ﬁ#@ﬁ‘a&mddeﬁacﬁa& WYY
a) IR, Sernt awwm@m
b) Se R e Jen QTR
C) SRt nd wwennd
d) 8,80, YR beddamd

33. Who announced the introduction of National Food Security Act ?

a) Pranab Mukharjee b) Manmohan Singh
c) P. Chidambaram d) Arun Jaitley
Todyeodd 65590 2303, S TCITIORRY, PRearmad b ?

a) &®,69%0° S0DWF b) SoFIpe®T® 20T
C) &. Wowosr* d) o’ et

34. The National Bank for Agriculture and Rural Development (NABARD) was
established in the year ?

a) 1970 b) 1975 c) 1977 d) 1980

NABARD ﬁ.gL m@&md st

a) 1970 b) 1975 c) 1977 d) 1980
35. Where is the Central Rice Research Institute located ?

a) Bengaluru b) Cuttack

¢) Kanpur d) Coimbatore

Beow, e Hodegime Hox wQT ?

a) won¥rod b) w3z

c) BT d) pecdorEnd
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36. In science, an educated guess is called a/an

a) Question b) Conclusion c) Hypothesis d) Observation
LPRITY T3, [0 [plor-fovbloiabR-lolevobin)iab)
a) B, b) &ezmnrs c) s d) QegE

37. Which of the following is a proof of the Earth’s revolution around the sun ?
a) Rising and setting of the sun
b) Seasons
c) Parallax of stars
d) All the above
FENIRINYE IR BRODFT AT WROL AZRFCL FHToSCIRNG ?
a) ARTF BOESTO ) Bosbroddos 8,03
b) a=onsd
c) Jgne 08
d) 0eds 23R

38. The Department of Science and Technology (DST) was established in India by

a) May 1971 b) June 1971 c) May 1981 d) June 1981

WRTBTQ DT [0B) B8, wegensy (DST) 0, Tordencd,

a) soe 1971 b) wes® 1971 c) oe 1981 d) =Rz 1981
39. The process of repeated formation of species is called

a) Evolution b) Hybridization

c) Speciation d) Mutation

@, yfesnsb PsvesEr Srinomd dra@ﬁm&i%ai @,8,00

a) TR b) WZ3@

c) Tyeiedesces d) ewsf ZosErs
40. The term polymer is derived from

a) Greek b) Latin c) French d) English

fosnldnblo wda‘&; Gafatalobiniab]

a) hes b) oo, tint c) PowF d) o
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Answer all the questions. Each question carries 2 marks. (15%2=3

Qe FIRene GFor. B8 IR STW LoIRL.

41. The process of hypothesis testing has
a) 6 steps b) 9 steps c) 7 steps d) 8 steps
o, 8o Boed ol &,8,030030 BoBRYRY, LIRRRS.
a) 6 b) 9 c)7 d) 8
42. Principle of laser is
a) Spontaneous absorption b) Stimulated emission
c) Induced emission d) All of the above
ST’ B,
a) o LeBRRTTR b) evdexd BT BeROIE
c) 08 BT REQT d) oeds Qe
43. The prefix “nano” comes from a
a) Greek word meaning dwarf b) Spanish word meaning particle
c) Latin word meaning invisible d) French word meaning billion
T, RRe PIF T30 2083 2008.
a) N5 TW Lowd By, b) M I WO (Zlelmtof-120!
c) e:adé,sa‘ TE @008 wrieest d) 3o T eorsd wdoda
44. Smart materials are those materials
a) That responds to a change in their fossilized and hydrocarbon form
b) That responds to a change either in the temperature moisture and pH
c) That can be controlled by external factors such as mechanical stress etc.
d) Both b) and c)
T RUEOODY* 2000
8) B, fWFS’ Forie BYINVENY WS T,88, corbZ
b) Zowmmng Seawos mone pH & wrwessn 88, c0RZE
C) OB Vo0, ROTT thE, SoBRTen iR ¥ LR AT/
d) b) SO ¢) 2TBR
SPACE FOR ROUGH WORK
B
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45. Hemochromatosis, sickle cell anemia, down syndrome are examples of
a) Diseases as a result of complications due to HIV
b) Dysfunctional gene behaviour caused due to mutation
c) Health hazards as a result of increased use of GM crops
d) Diseases where no new cases have been reported since year 2000
EoeaiReER, R, HReAT, BT FTF BRACKR, TPRT A0TR, (N LumRBoRNEd
a) HIV 02 pE320T e0otma asciosing
b) e BomsrHced 3Poh IBrHobD E’héiecd:rira%::-sd
c) GM crops & w¥Botot evoths e:rdraerf FeAolelmte] ("3
d) 2000 m@EF&ed cdnmEe el a:mcmei‘rfﬁ: atelaleverlp O]

46. The “green revolution” is criticized by some because

a) It created an agricultural surplus

b) It promoted many varieties in food grains

¢) It enhanced the dependence on fertilizers and many pesticides
. d) None of the above
| BATY 52,0803 33 FTHROT tiegrievmn)

a) & warba V0D BRBEB

b) aamdg B EAaRoslew TOTONYRD, vugensasd
| c) ca"?odows r’imo 2OnY Torte Es’assc:n’%# w#od:ab BB
} d) oedz Q‘i’a@dﬁ o,

47. The word “Agriculture” has been derived from

a) German b) Latin ¢) American d) Arabic
‘ “Agriculture” ooz ﬁcﬁdﬁi Q0T TTEODAT,
| a) msora® b) & tim® c) woeden’ d) e8ews*
|
| 48. Which group of organisms is believed to be among the earliest to evolve on
| earth ?
a) Arthropods b) Coelenterates
' c) Protozoans d) Reptiles
l ol Sedd Srcen en,cﬁaz;cs 22eamEld WROTO TOWEDAT.
a) o:s’.@»mw b) mdowrﬁewﬁd
c) @@Jehiraemeas‘ d) Saedef
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A sheet of newspaper is about thick

a) 100000 nanometers b) 10000000 nanometers
c) 1 nanometer d) 1000 nanometers
20T BRI TBETTT Fodod B,

a) 100000 nm b) 10000000 nm

c) 1nm d) 1000 nm

Which of the following definition for “science” has been coined by ‘Carl Sagan’ ?

a) Science is a way of thinking much more than it is a body of knowledge

b) Is an intellectual activity carried out by humans

c) Science is a knowledge covering general truth

d) Science is uncertain and subject to revision

2 BYNTRNYE, CART w2, 30, IV, OE Ty Mo 0B QeRTTN BRTTO ?

a) wm_ﬁaj} c3nedscdd maodfhd @dﬁoé umm:aﬁ 2000 B, ;ﬂosmd 252 qpmhcﬂ
b) =IRIST zﬂaaﬁ 236203edBNTRY m:i':oaajd:

c) Qmaﬁ@ mm TR, N, sm weRRoRT

d) amﬁ;@ @EO%mﬁd mm a@ﬁma@réﬁmﬁ:@d

51. What are the causes for low agricultural productivity in India ?

a) Social environment

b) Pressure of population on land

c) Lack of credit and marketing facilities

d) All of the above

TRUSTE AR & m@dcjéa’ﬁ Fodranvonw ?

a) MBRWE TOXT

b) oo sedd wExoss ol wWIRE

c) o 803 &3 BRUWES POY,T 8003

d) oeds Q0P
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52. The German Physicist/Scientist proved that the earth and other planets move
round the sun not in a circle, but in elliptical orbits was
a) Tycho Brahe b) Sir Isaac Newton
c) John Kepler d) Galileo
R TITR [IT 1T RRODFS AT Lomosatamen s, T ToBo0meN Y,
WOLOTTY, VTRVAT BWRFT LIS
a) 33nc w,Be b) @o* wzoE SR u
C) o 3FHO° d) fodcine

63. Expand GSLV.
a) Geocircular Satellite Launch Vehicle
b) Geoelliptical Sateliite Launch Vehicle
¢) Geosynchronous Satellite Launch Vehicle
d) Geoorbital Satellite Launch Vehicle
GSLV aomd
a) Geocircular Satellite Launch Vehicle
b) Geoelliptical Satellite Launch Vehicle
¢) Geosynchronous Satellite Launch Vehicle

d) Geoorbital Satellite Launch Vehicle

54. The decimal number system in use today was first recorded in

a) Indian Mathematisians b) Roman Mathematisians
c) Greek Mathematisians d) Latin Mathematisians
T,X08 LFFODYTOT TIRTROT 08 FIIODT) WO TDIRTH
a) R3¢0l NedZToR e b) deeabda® nedgzoxiz O
C) Nye5* riedezome o d) oRuse” niessTozz
55. TCP/IP is a

a) Network Hardware b) Network Software
c) Protocol d) None of the above
TCP/IPcd
a) JFTTF TSt b) Sex'@e’s g et

I c) @p ctdpemoest d) F0eOT cInFTe w6,
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